# MILLSTEIN MARKET REPORT

Tiburon Real Estate



2024 YEAR END



Mark Millstein mark.millstein@sothebysrealty.com 415 601 9240

#### An Inside Look at Marin County Real Estate

Marin saw an 8% increase in the total number of homes sold in 2024 compared to 2023, with 1,752 single-family homes changing hands. The \$1 million to \$3 million price range experienced the largest growth, with a 10% rise in sales compared to the previous year. The average selling price in 2024 remained steady at \$2,150,000, nearly unchanged from 2023.

Homes that are less than ideal faced price reductions, while remodeled properties featuring open floor plans and premium amenities—such as pools, breathtaking views, or expansive yards—drew strong buyer competition and multiple offers.

Forecasting the short-term impact of a new administration, global trade developments, and financial markets remains complex. However, with anticipated lower interest rates, robust stock market performance, and a strong regional job market, demand is expected to continue outpacing the supply of available homes, contributing to price stability.

#### **Tiburon**

In 2024, Tiburon saw a slight dip in home sales, with transactions falling to 75 from 79 in 2023. However, the average sale price rose to \$3.9 million, fueled by an increase in high-end property sales. Notably, 20 homes sold for over \$5 million in 2024, up from 13 the previous year.

The average price per square foot sold was slightly lower than in 2023, at \$1,253. The market showed signs of cooling in the second half of 2024, with fewer homes selling above asking price. Additionally, 30% of homes sold in the latter half of the year had price reductions, compared to just 8% in the first half.

Despite these minor market shifts, demand remains strong, particularly for homes with updated finishes, modern amenities, and open floor plans.

When you're ready to maximize the value of your home and determine an optimal pricing strategy, I invite you to contact me. I can guide you in preparing your home for sale and ensure a hassle-free selling experience right up to the completion of your move.

Best Regards,

Mark Millstan

Mark Millstein 415-601-9240

Golden Gate Sotheby's International Realty mark.millstein@sothebysrealty.com



## The Mark Millstein Advantage: Unlocking Your Success

If you're looking for a trusted partner who can achieve your goals, I invite you to get in touch. Let's work together to unlock your success in selling or purchasing a home.

What sets me apart is my comprehensive approach to meeting your needs, combined with Sotheby's renowned marketing presence and strategies to effectively showcase your home in the market.

After years of renovating, building, and selling homes in Marin, I've developed a keen eye for identifying changes that maximize your property value. Here's what I offer my clients:

### 2024 Year End Residential Real Estate Activity in Tiburon

75	\$3,851,000	\$1,253 29%		000 \$1,253 29	
Homes sold in 2024	Average sale price in 2024	Average price per sq. ft. in 2024	Homes sold above asking price in 2024		
(vs. 79 in 2023)	(vs. \$3.7M in 2023)	(vs. \$1,284 in 2023)	(vs. 39% in 2023)		
7%	40%	27%	30%		
Average amount sold above asking price in 2 <sup>nd</sup> half 2024	Sellers received multiple offers in 2 <sup>nd</sup> half 2024	Homes in escrow within 15 days on market in 2 <sup>nd</sup> half 2024	Homes receiving price reductions in 2nd half 2024		
(vs. 8% in 1 <sup>st</sup> half 2024)	(vs. 26% in 1 <sup>st</sup> half 2024)	(vs. 50% in 1 <sup>st</sup> half 2024)	(vs. 8% in 1 <sup>st</sup> half 2024)		

6	14	6	36	6	2
Homes sold					
between	between	between	between	between	above
\$1-2 million in	\$2-3 million in	\$3-4 million in	\$4-5 million in	\$5-7 million in	\$7 million
2 <sup>nd</sup> half 2024					
(vs. 4 in	(vs. 8 in	(vs. 6 in	(vs. 8 in	(vs.9 in	(vs. 3 in
1 <sup>st</sup> half 2024)					
_	_	_	_	_	_
\$1,242	\$1,226	\$1,159	\$1,371	\$1,212	\$1,892
Avg. price					
per sq. ft.					

- Pre-sale home improvements. Utilizing my trusted network of tradespeople and hands-on project management, I save you both valuable time and money.
- Data-Driven Insights: Leveraging my comprehensive market analysis provides meaningful market insights empowering you to make well-informed decisions.
- Negotiation Expertise: From navigating contract negotiations to home inspections, I focus on every detail to reduce any surprises. Whether you're buying or selling, I ensure you fully understand contracts and reports, giving you a competitive advantage.

My mission is to combine market intelligence with personalized strategies to help you navigate Marin's dynamic real estate market with success. I'm always available to discuss selling your home, purchasing a new one, or addressing any questions you have.

Seeing the potential in a property is my art. Maximizing value for my clients is my science. I look forward to helping with your real estate needs.

## Tiburon Homes Sold

July-December 2024

Address	Selling Price	Initial Price	Selling Price Per Sq. Ft.	Approx. Size of Home	Bedrooms / Baths	Approximate Lot Size	Days On Market
	(in \$)	(in \$)	(in \$)	(in sq. ft.)	(bd. / ba.)	(in acres)*	
699 Hawthorne	1,375,000	1,499,000	1,564	879	2/1	.17	70
130 Leland	1,400,000	1,400,000	1,391	1,006	3 / 1	.18	-
30 Juno	1,445,000	1,595,000	992	1,456	2/3	.15	49
40 Pine Terrace	1,775,000	1,775,000	1,371	1,294	3/2	.14	28
3 Saba	1,800,000	1,995,000	924	1,946	3/2	.17	119
50 Pamela	1,800,000	1,749,000	1,211	1,486	3/2	.21	13
99 Rancho	2,095,000	2,095,000	1,099	1,906	3/3	.23	28
3193 Paradise	2,100,000	1,877,000	1,535	1,368	3/2	.36	3
2220 Vistazo E.	2,200,000	2,395,000	1,423	1,545	3/2	.18	77
745 Hilary	2,280,000	1,995,000	1,433	1,590	3 / 2	.18	6
6 Las Palmas	2,300,000	2,790,000	1,112	2,068	3/3	.18	134
115 Trinidad	2,400,000	2,695,000	1,058	2,268	4 / 2.5	.17	101
18 Reed Ranch	2,543,000	2,995,000	810	3,137	4/3	.36	35
90 Rowley	2,550,000	2,495,000	1,502	1,697	3/2	.22	52
80 Eastview	2,700,000	3,250,000	1,181	2,286	3 / 3.5	.09	199
197 Stewart	2,775,000	2,995,000	1,026	2,655	5/2	.38	56
696 Hilary	2,795,000	2,795,000	1,822	1,534	4/2	.19	23
88 Trinidad	2,800,000	3,200,000	874	3,202	3 / 2.5	.25	76
1490 Vistazo W.	2,825,000	2,995,000	1,090	2,591	4 / 3.5	.42	97
2351 Spanish Trail	2,900,000	3,295,000	1,203	2,409	3/3	.29	73
2217-19 Centro E.	3,002,217	2,977,000	803	3,735	5 / 4	.21	14
100 Sugarloaf	3,200,000	3,850,000	984	3,250	4 / 3.5	.24	61
15 Acela	3,270,000	3,800,000	1,348	2,425	3/3	.47	19
20 Cypress Hollow	3,500,000	3,095,000	1,299	2,693	4 / 3.5	.20	3
115 Rock	3,760,000	3,195,000	1,378	2,727	4/3	.52	12
85 Paseo Mirasol	3,777,000	3,777,000	1,141	3,308	4 / 2.5	.43	37
10 Seafirth	4,060,000	4,377,000	1,094	3,710	4 / 4.5	.29	28
2 Old Landing	4,270,000	4,195,000	1,373	3,108	5 / 4	.78	15
2571 Mar East	4,650,000	4,150,000	1,646	2,824	4 / 2.5	.20	11
11 Roseville	5,150,000	5,795,000	1,153	4,465	6 / 5.5	.33	144
177 Avenida Miraflores	5,150,000	5,277,000	1,381	3,727	5/4	.35	46
105 Gilbert	5,150,000	4,895,000	1,549	3,323	4 / 3.5	.86	4
7 Mariposa	5,200,000	5,495,000	909	5,715	4/6	.59	38
152 Hacienda	5,800,000	5,995,000	869	6,674	5/8	.50	25
2 Tara Hill	6,775,000	7,000,000	1,412	4,796	5 / 4.5	.48	56
7 Acela	8,207,000	8,777,000	2,171	3,780	4 / 3.5	.53	17
147 Gilmartin	9,000,000	8,975,000	1,614	5,575	4 / 6	1.23	40

<sup>\* (1</sup> acre = 43,560 sq. ft.)